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SECTION A
ALL THE QUESTIONS IN SECTION A ARE COMPULSORY.
Answer all the questions on the mark-reading sheet.
Each question counts 1 mark. [20]

Consider the following example of a supply chain and answer questions 1 and 2.

Eskom needs a vast amount of raw materials to produce electncity One of the most important
commodities in this regard 1s coal Assume that Anglo-coal meets Eskom’s needs pertaining to coal.
Eskom 1s then able to produce electncity, which 1s in turn supplied to the various municipalties in
South Afnca The municipalities n turn supply households and businesses with electricity for
utilisation

QUESTION 1

Which of the following i1s regarded as the focal firm in this supply chain?

1 Eskem

2 Anglo-coal

3 The municipaiities

4 The households and businesses
QUESTION 2

As far as Anglo-coal 1s concemed municipalities are considered as in the above description of
the supply chain

1 suppliers

2 buying organisations

3 customer’s customers

4 end-users

QUESTION 3

are negotiated agreements with suppliers to offer a certain price for products or services
that remamn valid for all purchases made within a certan penod, but the buying organisations are
under no commitment to buy any particular amount

1 Spot purchases
2 Regular trading
3 Call-off contracts
4 Fixed contracts

QUESTION 4

Contract management can be defined as the mplementation of a(n) agreement between
two parties that stipulates the fulfilment of their contractual obligation to one ancther to ensure that
immediate action can be taken to effectively and efficiently manage that may occur

monitoring, ndividual, fluctuations
observing, specific, vanations
safeguarding, reciprocal, changes
finahsing, distinctive, revision

BN =
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QUESTION 5

Which of the followmng evaluation critena is used when evaluating the desirability of using contracts?

ao oo

BN =

Is it a long-term agreement?

Are there high levels of trust between the buying organisation and the supplier?
Is it a high value purchase?

Is this a repetitive purchase?

ab
bed
ad
abcd

QUESTION 6

The evaluation at this hierarchical level of the portfolio of relationships may cause a potential
termination of the relationship, since represent/s a tme-framed commitment.

o -

sequence
action
episodes
relationship

QUESTION 7

Which of the following 1s important in developing successful relationships in a partnership?

1 Commitment by top management

2 Interpersonal relationships between employees of the companies

3 Mutual/compatible needs that result in a win-win stuation for the partners
4 All of the above.

QUESTION 8

Which of the following 1s NOT mportant in developing a successful strategic alliance?

PN -

Developing efficient processes that will remain unchanged for the duration of the partnership
Developing performance metrics

Investigating the capabilities and core competencies of the supplier

Open Iines of communication that both promote sharing and secure confidentiality
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QUESTION 9

Fit the charactenstics in Column B with the relationship class in Column A

COLUMN A COLUMN B
a Transactional 1 Medium competitive advantage
relationships Intermediately skilled resources
Minimal technology inflows
b Collaborative 2 Early supplter involvement
relationships A total cost focus
One or a few suppliers
c Allhance 3 High potential for problems pertaining to communication
relationships Little continuous improvement
Minimal service

1 a=1 b=3 c=2
2 a=3 b=1 c=2
3 a=3 b=2 c=1
4 a=2 b=3 c=1
QUESTION 10
President Steyn 1s a two way communicator and views parinerships as important aspects of
leadership. Therefore, he can be regarded as a (an) leader
1 autocratic
2 chansmatic
3 procrastinating
4 democtratic
QUESTION 11

Mr Khumalo 1s looking for ways to achieve stable relationships with his teams What would you
suggest to assist him realise his goal?

1 He should only appraise his staff whenever he gets a chance as this exercise i1s time
consuming

2 He should not communicate his vision to the team because it might be stolen

3 He should empower team members and not control them.

4 He should set challenging objectives that are unachievable.

QUESTION 12

When establishing buyer-suppler relationships, all the sequences which in turn compnse all the
related episodes and actions in one particular relationship between organisations, would be referred to
as

relationships
sequences
partner base
episodes

0N =
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QUESTION 13

Which one of the foliowing 1s NOT the capabiity of the resource-based theory (RBT)?

1 Corporate architecture
2 Innovation

3 Supplier performance
4 Reputation
QUESTION 14

Which type of contract would you use when there 1s a frequent requirement of a product or service and
the price can be easily determined?

1 Spot purchases
2 Regular trading
3 Call-off contracts
4 Fixed contracts
QUESTION 15

According to Kurt Lewin's model, implementing change, will involve three basic steps, namely

1 removing obstacles, changing structures and encouraging new approaches
2 unfreezing, changing and refreezing

3 communication, innovation and change

4 creating vision, change and fostenng team spint

QUESTION 16

Which one of the following 1s NOT part of contract life cycle?

1 Transaction
2 Creation

3 Compliance
4 Analysis
QUESTION 17

A family of international standards for environmental management 1s

1 1ISO 9000
2 ISO 14000
3 ISO 9003
4 ISO 16000
QUESTION 18

Which one of the following circumstances will most likely lead to a buyer-suppher break-up?

Stability and consistency of organisational philosophies
Supplier constantly meeting required service levels
Collaborative efforts between the buyer and the seller
Supplier suddenly becomes financially unstable

WK =
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QUESTION 19

Change control aims to ensure that all changes are assessed and approved by management before
therr implementation Which one of the following 1s NOT a goal for change control?

1 Minimal disruption to services

2 Reduction in back-out activities

3 Economic utilisation of resources involved in implementing change
4 Little continuous improvement

QUESTION 20

— . enables open communication, making demands, stating preferences, asking for
information, offering proposals and making concessions

1 Tacit negotiation

2 Content negoftiation

3 Cost negotiation

4 Face-to-face negotiation
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SECTION B
SECTION B IS COMPULSORY. [30]

Read the following article and answer the questions that follow.

BMW tops ranking in supplier relationship index
27 June 2012 | Kamalpreet Badasha

BMW has been rated number one in the 2012 Supplier Relationship (SuRe) index scoring 617
points out of a possible 1,000.

The annual research, conducted by information company IHS, ranks 28 carmakers based on
interviews with executives at 230 automotive suppliers. In second place was Porsche with 611 points,
followed by Mercedes-Benz with 606 and Jaguar Land Rover with 589. IHS analyst Matteo Fini, said:
“The key reason for the improvement by BMW, according to suppliers, was providing them with the
potential to make a profit over the Ifetime of a contract ™ The bottom three companies were Chinese
manufacturers Dongfeng Motor Group with 402 points, FAW Group Corp with 391 and Chery
Automotive with 370 points

The index 1s compiled using quahtative ratings for 29 metrics provided by suppliers, which are then
converted Into points. The metrics include payment terms, support in achieving price reduchon,
protection of suppler's intellectual property and demands for better logistics The car manufacturers
are then given individual scores for five concepts profit potential, organisation, trust, pursuit of
excellence and outlook.

BMW ranked first for outlook, which assesses how suppliers feel about the future success of the car
manufacturers as a customer for secunng business BMW was second for orgamsation, which
examines the quality of communications with the supplier It was also second for pursunt of excellence,
a concept that looks at the extent to which the car manufacturer achieves competitive advantage by
getting the best-in-class technology delivered to the customer BMW came third for profit potential,
which 1s defined by factors such as productivity gains and payment for parts

SM reported In May that the latest North Amencan OEM Suppher Working Relations Study, published
by consultancy Planning Perspectives, found that despite Chrysler and General Motors having
improved relations with suppliers for the fifth consecutive year, they still lagged behind Toyota, Honda,
Ford and Nissan.

Source: hitp /www.supplymanagement com/news/2012/bmw-tops-ranking-in-suppher-relationship-
index/?utm_source=Adestra&utm_medium=email&utm_term=
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QUESTION 1 [30]

11 Explain relationship formation according to the five different aggregation levels in relation to the

above article (10)
12 From the above article and your knowledge of the topic, discuss briefly what constitutes the

buyer/supplier relationship {06)
13 Compile and explain the supplier perception model In order to illustrate how suppliers view their

relationship with BMW as the buying organisation. (12)
14 Define supplier relationship management in relation to strategic sourcing (02)
SECTIONC

Answer ANY ONE of the following TWO QUESTIONS. Total: 20 marks.

QUESTION 2 [20]

There are two (2) approaches to negotiation, namely collaborative (or constructive) and adversanal (or
competitive) negotiations. Discuss the classifications of negotation in detad by addressing the
following issues.,

21 The main objective of each of these approaches (04)
22 The four (4) types of relationships (08)
23 The two (2) types of contact (02)
2.4 The content of the three (3) issues In negotiation situations, namely price, contract and
delivery (06)
OR
QUESTION 3 [20]

llustrate the contract management functions at the different levels of strategic supplier management
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